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Exercise 7.6

A fair coin is tossed 30 times, the result of which is tabulated below. -

Smdyﬂwtableandanswﬂ:equeshousgivenbelnwthetahle:

Event " Tally Marks Frequency
Head T 14
Tail ) 1 | 18

(i) How many times does 'head’ appear?

(i) How many times does 'tail' appear?

(iii) Estimabe the probability of the appearance of head?
Giv) Eebnmteﬂleplobabmtyoftheappeammedlml? _

) Solutlon From the table, total outcomes = 30 => n(S) =

,(i)
{ii).
(iti)
(iv)

2.

CA(D) Hﬁwmanyﬁmesdosdoisappeanﬁ

From the table, we see that
Let A = event the times head nppears => n(A)= 14
Let B = event the times tail appears = n(B} -_ 16

Probablhty that head appears = P(A) =28 BB

Probablhty that tail appears. = P(B) =S " 30 " E

Adlemmdlwhm'lhemmﬂtmtabulamdbelow Study the table

and answer the guestions given below the table:

Event Tally Marks Frequency
- T R
1 - 14
wMw |
2 17
3 LR R »
5 W WMW 15
6 LB BN |1 - 16

{ii) How many times do 5 dots appear 7

(iii} How many times does an even number of dots appear ?
{dv) Hnwmnyumsdoeaammenumberddﬂtsappear?
(v) F&ndﬂ:epmhablhtyd‘eachmedtheahovem
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Solution. From the table, total outcomes .= 100 = (8 = 100
From the table, we see that ' .
(i) LetA= event, the number of t.i:'n'es,' 3dnts appear : nfA)=20 .
(ii) LetB= event, the number of times 5, dote appesr =5 n(B) = 15 .
(iii) Let C= event, the number of times, evea'n,dot,s appsar
| | = n(0) =17+18+16= = 51
(iv) LetD= event, the number of times, bﬂmé df,gl appear
=> nD)= 17+ 15+ 20 = 52
(v) Required probabilities are as : ) | P
ey mlEl ST FHIESR R
RO = IS = 1 R SR B o
8. Thé egygs subplied by a poultry farm during s week broke during
transit as follows 1%, 2%, 1%%‘, %%, 1%, 2% 1% :
Find the probability of the eggs broke in a day. Caloulate the number
of eggs that will be broken in transiting the following number of eggs:
M 7000 G B0 (1D 10500
Solution. Transit - Broken eggs No. of eges
1 1 100
2 ' 100
3 13 =15 - 100
4 f=05 e
5 T 1
6 2 - 100
7

‘Let A = event the eggs broke = n(A})

(i}

: 100
Total eggs = n(S) = 700 ' ' '

=1+2+15+05+1+42+1=9
n(A) 9 &

PA) = n(S). = 700

= T000x = =90

Number of eggs broke in 7000 700
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9 .
8400 x — 00 = 108
(i)ii- Number of eggs broke in 10500 = 10500x 730 = 135

(ii) Number of eggs broke in 8400

§ 7.7 ADDITION OF PROBABILITIES,
‘Notationa.
We know that P(E) means the probablhty of an event E.
Now if A and B are any two events, then
P(A} = probahility of ogﬁrrence of the event A
P(B) = probability of occufrencé of the event B
.. P{A\U B) .'= probability of occurrence of the event A or B
PIAM B) probabnhty of owurrp.nce of the event A and'B
Theorems of Addition of Probabihtles.
I. PAUB) = PAor B) = P(A)+ P(B), when A and B'are disjoint
II. PAVUB) P(A) + r‘(B) — P{(AMB), when A and B are overlapping o
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